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by five gquestioms (07 1 38U0R. Each question carries 16 marks.
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J(x). t(x) and hix) x° #*"qﬂ.

1"
On the same axes, sketch 1€ Eraphy of y = £(x) and y = th(x). [5]
-mwm the atea between the graph of y = f(x).

L_'I huﬂll: ~15andx =, 3

) Estimate the area in (b) using the tripezium rule with 4 ordinates. (4]
) Culoulite the relative eror made in estimating the ares in (b) using

‘the trapezium rule. 3]
m&mrﬂ—la Cot 8, 4]
Hence or otherwise solve lhﬂqﬂlliun-:—fr'é%’- = 2 Cosec®d — 1. lor
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Matrices A and B~ are given by

2 0 _
" x.-el-'l),.x:-:li

alilate mﬂiﬂmmﬂ{hm of A is equal 1o 13 [5]
(7]
4]

e, iy

A
Scanned by CamScanner



"

56+ 4] + k respectively,

The sarm of # tetes of & :
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e Culenlnte the mﬂwk § fun ibet Sum,fn.mhmimm

Ll Find the range of value of m fopw: -+~ 14
;zmh verticas 4t poi- ¢ | | B(3.7); C14:2) and
(W) Find the equation of line AB. (4
(b} Show that line AB is perpendicur. o AD 14
{€) Find the equation of & gisele wii -+ o point D and radius CD in the
foem x? + i +ax+ by = ¢ wieie . b and ¢ are conslants, - 15]
(L] Show that the cirele in (e) passes vough point A 121
() Explain why line AR ix a WA geni (o the circle in (c), i

' ABC has vertices with position sccuns ( + 2 + 2k, 21 4 5/ = 2k and
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